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Why does he call it a derivative of Regel ~ — %377 77910 110 p RN

OVERVIEW

The & 13 asks (according to X27), why is MM7% considered a 77230 of 237 (since it
pays only a p11°¥m). It would seem that the X713 is asking that it should rather be
considered a 77700 of 17p. Our MO negates this interpretation, and offers an
alternate explanation of the question 2377 77720 177 " XK.

mdoIN anticipates a difficulty:
2
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Even though it is seemingly understood why Mm% is considered a %377 77710, for

it is similar in its characteristics to 939; why therefore does the X3 ask, ‘why m 1% is
called a 37 77?1

mooIn responds that nevertheless -
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Since its laws are different than 737, it should have been called by an
independent name; not a %17 770,

SUMMARY
The question of %377 7770 7% 9P *RAKY is that MM1¥ should be called by an
independent name.

THINKING IT OVER
Is the classification of a >t more contingent on its characteristics, or on its laws?

' See 1"nX that this is referring to the second *X»X (concerning X27; not the *X»X) regarding 2"7). This lessens
somewhat the difficulty in the reverse order of the two *XnR 17"71 10197 7"7 M.

% See YXMW NAXON who interprets this to mean that N1117% is "¥n 12°17 just like 237 (and is different from 17p).

31t is more similar to 237 than to 17P. See 17"AR.

* It pays a pr1 *¥r1 (and perhaps only 191n).

> The xm3, however, never entertained the thought that n1117% should be a 37710 of 17p.
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